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_Lay/form §J3.777....

i £l
S ® T @
i £l

5 0 5 ©

l - z
x_;:? ¥ :X:\/§+2/’/’

V5 (B) 3(A)
25 (D) 4 (C)

Sl LCM(306,65)5 HCF, (306,657=9

23238 (B) 22338 (A)
33228 (D) 32228 (C)
‘e | LCMEZ = -dt

420 (B) 840 (A)
960 (D) 168 (C)

?‘L//{}J (a—b)(a+b)+ (b—c)(b+c)+(c—a)(c+a)
(a—b) (B) (a+b) (A)

c+a (D) 0 (C)

S (/Utstandard form..3 0.000007
7x107 (B) 7x10* (A)

7x10™° (D) 7x10° (C)
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Pl AUt S Fan L 1Lvox668% 5 M X /& Fan (fe 2,810
650 (B) 550 (A)

850 (D) 750 (C)

?LQJ,GJK;-‘Q factor (1§ 4x° +3x” —4x+ K, (x—1) /]
-3 (B) 3 (A

-4 (D) 4 (©)

o2 0-3 Zeroesk Product s/ Sum LfThe quadratic polynomial
X +3x+2 (B) X =3x+2 (A)

x> =3x+6 (D) x*+3x+6 (C)

fe Ll - factor Z(1+3y) + (9y2 —1)

3-) (B) 1=3y (a)

y=3 (D) I+3y (c)
1

x‘ﬁ:?}x:?hmﬁ/ﬁ’
1 (B) 0 (A)
442 (D) 2 (C)

?Lat“nui'FormL//ui'two variabIeJ’cu”'/Jﬂ/ 2x+0xy+9=0 sl

- (4

9
(-9.0) (D) (Of 5} (©)
?Lau’”ij’unique <pair of equations “ii(Value) /ﬁ‘fLP
px+y+5=0 &
4x+y+3=0
p*4 (8) P=4 )
p#20 (D) p=20 (©)
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_q/u"u%t/f? «lpx 19 caverage ¥ nggaddui'w/tz'ﬁ:&ﬁctaﬂ average KU/ s
21 (B) 18 (A)

15 (D) 19 (C)

-sdivisible < 6,8 & 10 z/tchhe largest three digit

900 (B) 999 (A)
960 (D) 990 (C)
@b =25cab=21 4 a+b=10_J]

126 (B) 58 (A)

256 (D) 82 (C)

fc_6 times 6 root 1§ Kx* —14x+8=0 Quadratic Equation“iifrq/‘/f;l’” Value K
1 (B) 0 (A)

3 (D) 2 (©

P . l l 7
?d/nu{?(ui’area Z rectangle ?nufd/ ;rduﬁ’widthJJUﬂnﬁWK grduﬁ' Iengthd/ rectangle u’(/'

l th l th
s (B) 3 (A)
3 (D) 5 (C)

?{ny/ Xyatx*—h*=0

a a
5 ® A
b b
) = ©
1
6w term 11 € 73,72, AP
22 (B) 28 (A)
1
—485 (D) -38 (C)
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?Q/find /u;/,"? <440 product /sl <24 sumE{u;/:)uf"L :A.Pu’(
811,14 (B) 5811 (A)

7,9,11 (D) 57,9 (C)

-6 B4 term LK AP. U1 UEAP. 21,16,11,6,1,...... series
16 (B) 15 (A)

18 (D) 17 (C)

-/ Find ¥ x Jnsupplementary Lo 1L (70+2xp Ly (Bx—15F angles /1
20° (B) 30° (A)
250° (D) 25° (0)

f

AD .,
??n/.'/.égfw Jutmedians ZPQR JsIABC triangles AD and PM A

AP, 1Y
DM ®) AB (A)
oM 4B
5 © p0 ©

??ny/diagonal b/u"b./“n6cm breadth .s/8cm length d/u"ui' rectangle u’(
l4cm (B) 9cm (A)

12 cm (D) 10cm (C)

‘et lie U/ (-10,0), Point
U~ negative direction d/ x-axis (B) J~direction negative d/ y-axis (A)
U~ fourth quadrant (D) U~ third quadrant (C)

_Kngﬂwsuwé (0.5) s (a.0)

@’ -b (B) a’+b* (A)
NJa’-b* (D) Na’+b*  (C)
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¢z Collinear (3.%)»1 (5.1).(7.-2) points &L Z Value LK

4 (B) 6 (A)

-4 (D) -6 (C)

?Jngdistance = x-axis § P(4.5) point

3 (B) 2 (A)

5 (D) 4 (C)

?Jngvalue d/x ?‘46 distance sbetweeni(z,—Z) 21 (-1,X)<points /ﬁ

2 (B) 3 (A)

-1 (D) 1 (€
?JngValueJx »ly ?ugD(4,3) o C(x, ). B(5,1), 4(3,1) verties Z Parallelogram ABCD u’( .

(2.6) (B) (6.3) (A)

(2.4) (D) 6.4) (©

?Jngvalue J cos0° cos1°cos2°...cos89° cos90°

-1 (B) 1A

% (D) 0 ©

?Jngvalue J X o= x tan 45° Sin30° = Cos3° tan 30° _/j

% (B) f (A)

1 (D) 5 ©

ftrue sin 28 =2sin B “iLValueg//B

60° (B) 90° (A)

0° (D) 30° (©)

?‘aédgcu:‘j‘)'g/ﬂ;w complementary angles y s x /7

tanx =tany (p) sinx=siny ()

secx=cosecy (p) Cosx¥=cosy ()
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2 B+C _
- ¥ value JCOS[ 2 Jg.uginterior angles C B, A AABC /]
—siné B siné A

, B ;> @

—cosé D Cosé c

, O ; ©

¢z 22 S draw <lines=point £ & {]

2 (B) 1 (A

infinite (D) 3 (C)

?JngCircumferenceJCircle Jv 7.7 cm radius d/circleJ(/'
4.44 cm (B) 48.8cm (A)

48.4m (D) 44.4cm (C)

-5l \E cm’ area b/u"/ﬁ fngSide d/EquateraI Triangle
4cm (B) 8cm (A)
16cm (D) 2cm (C)

??’L,angle L'?J/ui'major segment «chord s«equal radius ./ chord d/CircIe uf/;'
90° (B) 30° (A

60° (D) 45° (C)

?‘aslant height 25cm s/ radius 7cm d/u"/;"?ny/Curve Surface Area € Conical Vessel
1925¢m’ (B) 550cm® (A)

2528cm’ (D) 2128cm’ (C)

€ ratio € radii d/u'?‘ap 1:2 ratio & height d/uw‘a/.'/.volumes K/ right circular cylinder s

V3:1 (B) V21 (A)
J7:1 (D) J5:1 ()

€yl diameter KU1 4851 cm’® volume § sphere u’(
7cm (B) 3.5cm (A)
21cm (D) l4cm (C)
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VR l 2 . l
€Y mean b/?u' Y ¥ .= Z mean ¢ v »ly

7' -2 (B)

477 -2 (D)

2242 (A
272° -1 (C)

?d/ny/ lower limit d/model class U~ data zfé;

Marks obtained 0-20 20-40 40-60 60-80 80-100

No. of students 8 10 12 7 4
40 (B) 20 (A)
100 (D) 60 (C)

«difference < mean ./ median < k times difference ¥ mean s/ mode J% Statistical data

a=
b+c

3 (B)
6 (D)

P(AUB)=2 7 PANB)= u P(B)=

HB
o ®
1

1 (D)

1%2 (B)
3

42 (D)

_ 2ac

(B)

a+c

bc

(D)

-gfngvalue Sk
4 (A)

2 (©)

P(A)==_1

1 1
3 4
23
60
1
10

(A)
(©)

?d/ngProbability d/ Face Card Lspade
2

Az (A)
5

42 (©)

;yZZXZ/)‘xa:yb:Zc/f‘

_ 2bc
b+c

a

(A)

_ 2ab

CcC=
a+b

(©)
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?‘aCﬁnuﬁ}Possilbe sProbabiIitydu/Jevent vga;ui"f“;;?/ﬂ
-0.32 (B) 0.25 (A)

0 (D) 1 ()

‘<" Full form § Wifi

Wireless Funtionality (B) Wireless Facility (A)
Wireless Fidality (D) Wireless Future (C)

‘e MUK GULEG

Giga byte (B) Gigabit (A)
Generation (D) Giga hertz (C)

fe " 2's Complment & 15
0001 (B) 0000 (A)

1111 (D) 0010 (C)

S« Full Form §'UPS
Uninterruptible Power Supply (B) Uniform Power Supply (A)

United Power Supply (D) Universal Power Supply (C)

B2 Message L sz 5 ARPANET & =
HELLO WORLD (B) LO (A)

HI (D) HELLO (C)

?‘LL"}’EJW‘Q/LU:U‘U“C Chip Ulsd_ s &I Computer
Lead (B) Silicon (A)

Chromium (D) Gold (C)

-l scomputer generation ‘ﬂ)W'KTransistor
Second (B) First (A)

Fourth (D) Third (C)

.50
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_‘auﬁ"i:)OCtal/:)U/LUﬁU’
4567 (B) 1234 (A)
4231 (D) 5678 (C)

(4A6)16 + (1B3)16 = (?)16
569 (B) 659 (A)

965 (D) 956 (C)

?‘at“/Store  Information ufuﬁ'Read Only Memory LComputer
Programmer (B) User (A)

Manufacturer (D) Engineer (C)

fe U ODT _etw i1, File Extension {1 Odt UFile A
Office Document Text File (B) Open Document Text File (A)

Online Document Text File (D) Other Document Text File (C)

?ug"'ig@/Special Effect U<Power Point Slide
Smart Art (B) Annotation (A)

Transition (D) Word Art (B)

f<_ Full Form §'UPI
Unified Payment Interface (B) Intermediate Payment Interface (A)

Uniform Payment Interface (D) United Payment Interface (C)

_‘a/.'/.LGiga Byte &1 peta Byte
10000 (B) 1000 (A)

1000000 (D) 100000 (C)

oL g UL L2 AMS-Word L L5 S type CO,
Subscript (B) Superscript (A)
Small caps (D) Strikethrough (C)
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< {1 Firewall
Antivirus (B) Virus (A)
Network Security Mechanism (D) Malware (C)

?Lauf.’fOperating System ‘Open Source u/z,ui’u'
MS Windows (B) Ubuntu (A)

Drupal (D) Linux (C)

U "'i g@/ Hardware Address
IP Address (B) MAC Address (A)

Network Address (D) Network Interface Address (C)

?‘Luﬁ’f Statically typed language ‘Programming Language u”u):;ui'u'
C++ (B) CM®»

Python (D) Java (C)
SUrlsLayers L J:Model TCP/IP

6 (B) 7 (A)
4 (D) 5 (C)

-< Reliable s3{je— -~ Lan Topology Lo A
Star topology (B) Bus topology (A)
Mesh topology (D) Ring topology (C)

?fnl[Order of Evaluation uf“iLExpression J:;‘,?/ﬂ
z=x+y*z/4%2-1
=*/%+- (B) */%+==(A)

*%/—+= (D) [%-+=(C)

?Lat“/dl.&'g Internet
Circuit switching (B) Packet switching (A)
Telex Switching (D) Telephone switching (C)
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?‘auﬁ"iﬁ K ACID Property d/ Transaction ufuﬁ’Jn Souur
Atomicity (B) Accuracy (A)

Durability (D) Consistency (C)

?LaData Base ‘Non-relational u/z_ui’u'
PostgreSQL (B) MySQL (A)

SQLite (D) MongoDB (C)

?LaL“Lgl[“iLL/connect < Single LAN/MuItipIe Device JW'E{Deviceu“ufuﬁJ;‘gzﬂ
Switch (B) Router (A)

Gateway (D) Modem (C)

¢« Full form §'QR Code
Quite Reliable Code (B) Quick Reliable Code (A)

Quite Response Code (D) Quick Response Code (C)

?<role l[b/KernaI - Operating System
To handle 1/0 Devices (B) To provide User Interface (A)

To arrnage memory and process (D) To execute application program (C)

?Lal[Virtual memory

Lat“/’Ul:b"“'Virtual Machine J/ﬁ9type E:/Memory.,g (A)
‘at“/JW'“iLextensionLRAMf Disk Spaces:< technique ¥’ Memory Managment.,g (B)
LaL“LgL[ Install U= Computer—3~, < Memory Module .,g ©

<_type ¥ Catche Memory i (D)

_‘at”nJl.&'“iLLn exit «loop_~C Program 2 Keyword
break (B) exit (A)

return (D) continue (C)
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f<_Full form § BHIM JZBHIM UPI
Bharat Home Interface for Money (B) Bharat Interface for Money (A)

Bharat Home Internet for Money (D) Bharat Internet for Money (C)

S sz Keys (S u/ui'/lb“u’{ﬂd/ Keyboard /",5;‘/
Function (B) Numeric (A)

Caps lock (D) Navigation (C)

f</Full Form & 10T
Internetwork of Thing (B) Internet of Thing (A)

Interconnection of Technology (D) Internetwork of Technology (C)

?‘aBranch ;QE/Artiﬁcal Intelligence U}J/LU:J“L?/A’-’
Machine Learning (B) Cyber Forensics (A)

Full Stack Developer (D) Network Design (C)

_Lauf.’prpIication;@E{Artificial Intelligence Ll A !
Digital Assistant (B) DBMS (A)

Computer Vision (D) Natural Language Processing (C)

?Lal[Blockchain

Centralized Ledger (B) Currency (A)
Distributed Ledger (D) Type of Crypto Currency (C)
¢L5l2 /6 Bitcoin S

Mark Zuckerberg (B) Elon Musk (A)
Warren Buffett (D) Satoshi Nakamoto (C)

?‘at”lggujéu‘é‘f/EvaluationKExpressionuﬁ’FIowchart
Rectangle (B) Circle (A)
Parallelogram (D) Diamond (C)
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?LaL“L.ay/represent 4/Weak Entity (~Diagram E-R

Double Diamond (B) Underline (A)
Elipse (D) Double Rectangle (C)
?d/ny/value d/xuf.’Statement C 6’(0’;

int x=2>3;

3 (B) 2 (A

1 (D) 0 (C)

-gfny/value Sy UEC Statement 6’%} int y =(5<6)?10:-10;
0 (B) 1 (A

-10 (D) 10 (C)

?Lay/Time Complexity Best Case & Linear Search
O (logn) (B) O (nlogn) (A)
0 (1) (D) o(m (€

¥z Sequence éL/'/pop S ttems 92 push decebe aU Stack ..gﬁ,.fﬁ
acbeced (B) deccbea (A)
be<cca<d (D) dcacbcc (C)

??ny/Sequence 25 S remove 5 Items f?ugé;/ Insert deccbea & Queuevg 77/’7
bcacced (B) deccbea (A)
b<dccca (D) acbeced (C)

‘.“at“/ Represent ' gate XOR u/:,uﬁu!
Input (1,1) — Output (1) (B) Input (1,1) — Output (0) (A)

Input (0,0) — Output-(1) (D) Input (1,0) — Output (0) (C)
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_Lat“/represent /De Morgan's theorems “iLLogic gate u/z,ui’u' .96
(xy) =x'y" (B) (xy) =x"+y" (A)
(x+y) =x"-)" (D) (x+y) =x'+y" (B)

_Ladt“f classical ,g Dining Philosophers Problem 97
Efficiency (B) Synchronization (A)

Eating While doing Research (D) Doing Research While Eating (C)

?Q/L‘ﬂlgjb/lnstagram .98
Mike Krieger (B) Kevin Systrom (A)

None (D) Both (C)

?Lat“/’/WhatsAple:b"“'KEncryption Technique u”u/:,ui'u' 99
RSA (B) Signal Protocol (A)

None (D) DES (C)

-<Fastest Super Computer E{UU/;Mufz_uﬁu' .100
PARAM Padma (B) PARAM-8000 (A)

C-DAC (D) PARAM Siddhi-Al (C)

* * *
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